Garland Independent School District

GISD Sourcing Bid Tab Report

472271 VOSS ELECTRIC CO DBA VOSS YES 88

Bid#:	31619	Title:		Lamps, Bulbs, Ballasts, and Fuses noused)
Quote	# Vendor / Supplier	FPCN	Disco	ſ
		YES	25	1NL-Not low when unit price is calculated
472282	2 CRESCENT ELECTRIC SUPPLY	Yes	20%	
47221	5 DEALERS ELECTRICAL SUPPLY	YES	yes	7IA - Insufficient awards to justify
47220	5 DISCOUNT LIGHT DEPOT DBA	Yes	60%	administrtive cost of issuing
47226 ⁻	FACILITY SOLUTIONS GROUP	Yes	30	a purchase order
472302	2 VEHICLE MAINTENANCE	Yes	67.5%	

Line#	Item Description	Award (Y / N)	Code	υом	Supplier	Qty	Price	Extended Price
1	LAMP, 42W QUAD-PIN, TRIPLE TUBE, CF42DT/E/IN/841/ECO OR EQUAL			EA	DEALERS ELECTRICAL SUPPLY COMPANY	10	\$2.25	\$22.50
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	10	\$2.35	\$23.50
				EA	FACILITY SOLUTIONS GROUP	10	\$3.45	\$34.50
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	10	\$4.35	\$43.50
				EA	VEHICLE MAINTENANCE PROGRAM	10	\$4.44	\$44.40
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	10	\$4.59	\$45.90
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	10	\$4.83	\$48.30
2	LAMP, 23W COMPACT FLUORESCENT SCREW-IN, MEDIUM BASE	Y		EA	FACILITY SOLUTIONS GROUP	600	\$2.07	\$1,242.00
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	600	\$2.30	\$1,380.00
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	600	\$2.50	\$1,500.00

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
					VOSS ELECTRIC CO DBA VOSS	-		
				EA	LIGHTING	600	\$2.53	\$1,518.00
							1 0 0 7	AA AAA
				EA	DISTRIBUTORS INCORPORATED	600	\$3.67	\$2,202.00
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	600	\$5.10	\$3,060.00
3	LAMP, F54T5 HO	N	1NL	cs	DEALERS ELECTRICAL SUPPLY COMPANY	60	\$2.00	\$120.00
		N	1NL	cs	FACILITY SOLUTIONS GROUP	60	\$2.16	\$129.60
		N	1NL	cs	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	60	\$3.16	\$189.60
		N	1NL	cs	VEHICLE MAINTENANCE PROGRAM	60	\$3.33	\$199.80
		Y		cs	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	60	\$45.50	\$2,730.00
				00		00	φ40.00	φ2,100.00
				cs	VOSS ELECTRIC CO DBA VOSS LIGHTING	60	\$132.00	\$7,920.00
				CS	CRESCENT ELECTRIC SUPPLY COMPANY	60	\$153.60	\$9,216.00
4	LAMP, 175W MH, MEDIUM BASE	Y		EA	FACILITY SOLUTIONS GROUP	70	\$6.51	\$455.70
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	70	\$7.00	\$490.00
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	70	\$7.81	\$546.70
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	70	\$8.88	\$621.60
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	70	\$11.46	\$802.20
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	70	\$12.00	\$840.00

		Aurand						
Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
					VEHICLE MAINTENANCE PROGRAM	70	* 10.00	\$004.00
	LAMP, 90W, 130V FLOOD,			EA	INC	70	\$12.88	\$901.60
	MEDIUM BASE, PAR38, 90PAR38/HAL/FL28/LL OR				DISCOUNT LIGHT DEPOT DBA			
5	EQUAL	Y		EA	MCOR LIGHTING	20	\$2.93	\$58.60
				-	VOSS ELECTRIC CO DBA VOSS	20	\$ 2.00	¢70.00
				EA	LIGHTING	20	\$3.90	\$78.00
					VEHICLE MAINTENANCE PROGRAM			
				EA	INC	20	\$3.99	\$79.80
				-	DEALERS ELECTRICAL SUPPLY	20	** 7*	¢445.00
				EA	COMPANY	20	\$5.75	\$115.00
				EA	FACILITY SOLUTIONS GROUP	20	\$7.98	\$159.60
				-		20	£44.00	¢004.40
				EA	COMPANY	20	\$11.22	\$224.40
					CONSOLIDATED ELECTRICAL			
				EA	DISTRIBUTORS INCORPORATED	20	\$15.19	\$303.80
6	LAMP, MOGUL BASE, MH250/U OR EQUAL	Y		EA	DEALERS ELECTRICAL SUPPLY COMPANY	10	\$7.22	\$72.20
•						10	ΨΓ.22	ψ <i>12.2</i> 0
					DISCOUNT LIGHT DEPOT DBA			
				EA	MCOR LIGHTING	10	\$7.45	\$74.50
				E 4		10	¢0 20	¢02.00
				EA	FACILITY SOLUTIONS GROUP	10	\$8.38	\$83.80
					CONSOLIDATED ELECTRICAL			
		ļ		EA	DISTRIBUTORS INCORPORATED	10	\$8.88	\$88.80
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	10	\$9.00	\$90.00
		<u> </u>				10	φ 3. 00	\$30.00
					VOSS ELECTRIC CO DBA VOSS			
		ļ		EA	LIGHTING	10	\$9.39	\$93.90
				EA	VEHICLE MAINTENANCE PROGRAM	10	\$10.77	\$407.70
				EA		10	φ1U.//	\$107.70
	LAMP, 26W BI-PIN QUAD TUBE,				DISCOUNT LIGHT DEPOT DBA			
7	CF26DD/827 OR EQUAL	Y		EA	MCOR LIGHTING	100	\$1.53	\$153.00

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	100	\$1.56	\$156.00
				EA	FACILITY SOLUTIONS GROUP	100	\$2.01	\$201.00
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	100	\$2.37	\$237.00
					VEHICLE MAINTENANCE PROGRAM			
				EA	INC	100	\$2.55	\$255.00
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	100	\$2.81	\$281.00
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	100	\$4.64	\$464.00
8	LAMP, 9W BI-PIN, CF9DS/827	Y		EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	100	\$0.96	\$96.00
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	100	\$1.18	\$118.00
				LA		100	ψ1.10	\$110.00
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	100	\$1.24	\$124.00
				EA	FACILITY SOLUTIONS GROUP	100	\$1.26	\$126.00
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	100	\$1.43	\$143.00
				EA	VEHICLE MAINTENANCE PROGRAM	100	\$1.49	\$149.00
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	100	\$1.56	\$156.00
9	LAMP, 26W, 4-PIN QUAD TUBE, CF26DD/E/841	Y			DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	100	\$1.53	\$153.00
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	100	\$1.89	\$189.00
						400	¢0.00	£205.05
	Į	1	L	EA	FACILITY SOLUTIONS GROUP	100	\$2.03	\$203.00

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				EA	VEHICLE MAINTENANCE PROGRAM	100	\$2.58	\$258.00
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	100	\$4.14	\$414.00
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	100	\$4.32	\$432.00
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	100	\$4.40	\$440.00
10	LAMP, 18W, BI-PIN QUAD TUBE, CF18DD/841	Y		EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	5	\$1.40	\$7.00
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	5	\$1.89	\$9.45
				EA	FACILITY SOLUTIONS GROUP	5	\$1.98	\$9.90
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	5	\$2.81	\$14.05
				EA	VEHICLE MAINTENANCE PROGRAM	5	\$2.93	\$14.65
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	5	\$4.25	\$21.25
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	5	\$4.46	\$22.30
11	LAMP, 13W BI-PIN, QUAD TUBE, CF13DD/827	Y		EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	20	\$1.27	\$25.40
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	20	\$1.35	\$27.00
				EA	FACILITY SOLUTIONS GROUP	20	\$1.80	\$36.00
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	20	\$2.42	\$48.40
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	20	\$2.72	\$54.40

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				EA	VEHICLE MAINTENANCE PROGRAM	20	\$2.77	\$55.40
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	20	\$3.16	\$63.20
12	LAMP, F32T8/SPX41	N	1NL	cs	DEALERS ELECTRICAL SUPPLY COMPANY	200	\$1.75	\$350.00
		N	1NL	cs	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	200	\$1.79	\$358.00
		N	1NL	cs	VEHICLE MAINTENANCE PROGRAM	200	\$1.81	\$362.00
		N	1NL	cs	FACILITY SOLUTIONS GROUP	200	\$2.11	\$422.00
		Y		cs	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	200	\$34.75	\$6,950.00
				cs	VOSS ELECTRIC CO DBA VOSS LIGHTING	200		
					CRESCENT ELECTRIC SUPPLY		\$46.80	\$9,360.00
12	LAMP, 1000W, PULSE START					200	\$81.00	\$16,200.00
13	MH, MS1000/BT37/PS/U/SK	Y			FACILITY SOLUTIONS GROUP DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	5	\$18.39 \$21.65	\$91.95 \$108.25
					DEALERS ELECTRICAL SUPPLY COMPANY	5	\$22.00	\$110.00
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	5	\$31.25	\$156.25
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	5	\$33.15	\$165.75
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	5	\$39.74	\$198.70
14	LAMP, 1500W MH, M1500/W/BU/HDR	Y		EA	DEALERS ELECTRICAL SUPPLY COMPANY	30	\$18.50	\$555.00

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	30	\$18.72	\$561.60
							* 00.07	6 000 40
				EA	FACILITY SOLUTIONS GROUP	30	\$22.97	\$689.10
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	30	\$23.68	\$710.40
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	30	\$26.01	\$780.30
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	30	\$27.46	\$823.80
15	LAMP, 150W HPS, MEDIUM BASE, C150S55/M	Y		EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	100	\$3.86	\$386.00
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	100	\$4.50	\$450.00
				EA	FACILITY SOLUTIONS GROUP	100	\$6.61	\$661.00
					VOSS ELECTRIC CO DBA VOSS	100		
				EA	LIGHTING VEHICLE MAINTENANCE PROGRAM INC	100	\$7.14	\$714.00
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	100	\$7.77 \$10.45	\$1,045.00
					CRESCENT ELECTRIC SUPPLY COMPANY	100	\$11.34	\$1,134.00
16	LAMP, 70W HPS, MEDIUM BASE, C70562/M	Y		EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	10	\$3.86	\$38.60
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	10	\$4.25	\$42.50
				EA	FACILITY SOLUTIONS GROUP	10	\$5.42	\$54.20
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	10	\$7.81	\$78.10

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				EA	VEHICLE MAINTENANCE PROGRAM	10	\$8.09	\$80.90
					CONSOLIDATED ELECTRICAL			
				EA	DISTRIBUTORS INCORPORATED	10	\$8.60	\$86.00
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	10	\$8.71	\$87.10
17	LAMP, 400W HPS, HPS S51WA400	Y		EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	80	\$5.15	\$412.00
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	80	\$5.25	\$420.00
				EA	FACILITY SOLUTIONS GROUP	80	\$6.15	\$492.00
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	80	\$7.14	\$571.20
				EA	VEHICLE MAINTENANCE PROGRAM	80	\$8.06	\$644.80
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	80	\$9.00	\$720.00
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	80	\$10.02	\$801.60
18	LAMP, 400W MTL, M55 400W MH, M400/U/ED28	N	1NL	cs	DEALERS ELECTRICAL SUPPLY COMPANY	20	\$7.50	\$150.00
		N	1NL	cs	FACILITY SOLUTIONS GROUP	20	\$8.37	\$167.40
		N	1NL	cs	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	20	\$13.15	\$263.00
		N	1NL	cs	VOSS ELECTRIC CO DBA VOSS LIGHTING	20	\$57.48	\$1,149.60
		N	1NL	cs	VEHICLE MAINTENANCE PROGRAM	20	\$75.06	\$1,501.20
		Y		cs	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	20	\$89.40	\$1,788.00

Line#	Item Description	Award (Y / N)	Codo	UOM	Supplier	Qty	Price	Extended Price
Line#	tem Description		Code	UOM	Supplier	QLY	Flice	Extended Frice
				cs	CRESCENT ELECTRIC SUPPLY COMPANY	20	¢016 04	\$4 224 90
				63		20	\$216.24	\$4,324.80
19	LAMP, 7W BI-PIN, GE F7BX/840 OR EQUAL	Y		EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	10	\$1.03	\$10.30
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	10	\$1.18	\$11.80
				EA	FACILITY SOLUTIONS GROUP	10	\$1.21	\$12.10
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	10	\$1.25	\$12.50
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	10	\$1.41	\$14.10
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	10	\$1.43	\$14.30
							•••••	
				EA	VEHICLE MAINTENANCE PROGRAM	10	\$1.63	\$16.30
				LA		10	ψ1.00	\$10.00
20	LAMP, F32 T8 U-BEND, 6", GE F32T8/SP41/U/6 OR EQUAL	Y		cs	FACILITY SOLUTIONS GROUP	10	\$3.97	\$39.70
20						10	φοιογ	400110
						40	* 5 00	\$50.00
				CS	DISTRIBUTORS INCORPORATED	10	\$5.26	\$52.60
					DEALERS ELECTRICAL SUPPLY		•	
				CS	COMPANY	10	\$8.80	\$88.00
					CRESCENT ELECTRIC SUPPLY			
				CS	COMPANY	10	\$68.28	\$682.80
					VOSS ELECTRIC CO DBA VOSS			
				CS	LIGHTING	10	\$93.80	\$938.00
					DISCOUNT LIGHT DEPOT DBA			
				CS	MCOR LIGHTING	10	\$99.80	\$998.00
					CONSOLIDATED ELECTRICAL			
21	LAMP, F17T8/741/ECO	Ν	7IA	CS	DISTRIBUTORS INCORPORATED	10	\$1.51	\$15.10
		Υ		CS	FACILITY SOLUTIONS GROUP	10	\$1.71	\$17.10

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				cs	DEALERS ELECTRICAL SUPPLY COMPANY	10	\$2.25	\$22.50
				cs	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	10	\$39.00	\$390.00
				cs	CRESCENT ELECTRIC SUPPLY COMPANY	10	\$41.52	\$415.20
				cs	VOSS ELECTRIC CO DBA VOSS LIGHTING	10	\$59.40	\$594.00
22	LAMP, 1000W HPS, LU1000/ECO OR EQUAL	Y		EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	10	\$19.31	\$193.10
				EA	VEHICLE MAINTENANCE PROGRAM	10	\$24.59	\$245.90
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	10	\$24.69	\$246.90
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	10	\$26.83	\$268.30
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	10	\$27.50	\$275.00
				EA	FACILITY SOLUTIONS GROUP	10	\$32.37	\$323.70
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	10	\$35.17	\$351.70
23	LAMP, 250W HPS, LU250/ECO OR EQUAL	Y		EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	10	\$5.03	\$50.30
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	10	\$5.25	\$52.50
				EA	FACILITY SOLUTIONS GROUP	10	\$6.93	\$69.30
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	10	\$7.14	\$71.40
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	10	\$8.73	\$87.30

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				EA	VEHICLE MAINTENANCE PROGRAM	10	\$9.29	\$92.90
				EA	CRESCENT ELECTRIC SUPPLY	10	\$9.73	\$97.30
24	BALLAST, 1000W PULSE START MH, UNIVERSAL P1000ML5AC5M-500K			EA	DEALERS ELECTRICAL SUPPLY COMPANY			
24	PTOOMESACSMISOUR	Y			DISCOUNT LIGHT DEPOT DBA	50	\$72.00	\$3,600.00
				EA	MCOR LIGHTING CONSOLIDATED ELECTRICAL	50	\$80.60	\$4,030.00
				EA		50	\$90.89	\$4,544.50
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	50	\$92.94	\$4,647.00
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	50	\$113.54	\$5,677.00
				EA	FACILITY SOLUTIONS GROUP	50	\$129.56	\$6,478.00
				EA	VEHICLE MAINTENANCE PROGRAM	50	\$134.45	\$6,722.50
25	BALLAST, 1500W, 480V MH	Y		EA	DEALERS ELECTRICAL SUPPLY COMPANY	10	\$76.25	\$762.50
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	10	\$103.12	\$1,031.20
				EA	FACILITY SOLUTIONS GROUP	10	\$106.45	\$1,064.50
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	10	\$106.83	\$1,068.30
				EA	VEHICLE MAINTENANCE PROGRAM	10	\$133.01	\$1,330.10
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	10	\$144.19	\$1,441.90
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	10	\$145.97	\$1,459.70

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
26	BALLAST, 400W, HPS MULTI TAP, UNIVERSAL 1230-9352- 500K 120/277V	Y		EA	DEALERS ELECTRICAL SUPPLY COMPANY	20	\$46.25	\$925.00
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	20	\$50.56	\$1,011.20
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	20	\$57.28	\$1,145.60
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	20	\$61.79	\$1,235.80
				EA	FACILITY SOLUTIONS GROUP	20	\$64.27	\$1,285.40
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	20	\$73.53	\$1,470.60
				EA	VEHICLE MAINTENANCE PROGRAM	20	\$84.11	\$1,682.20
27	BALLAST, 26W QUAD-PN, DUAL VOLTAGE 120/277, ADVANCE ICF2S42M2LDK OR EQUAL	Y		EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	20	\$12.49	\$249.80
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	20	\$14.87	\$297.40
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	20	\$17.78	\$355.60
				EA	FACILITY SOLUTIONS GROUP	20	\$18.75	\$375.00
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	20	\$20.00	\$400.00
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	20	\$20.00	\$400.00
				EA	VEHICLE MAINTENANCE PROGRAM	20	\$26.03	\$520.60
28	BALLAST, 250W MTL HAL, 120/277V, ADVANCE 71A5770001D OR EQUAL	Y		EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	10	\$32.29	\$322.90
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	10	\$35.42	\$354.20

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				EA	FACILITY SOLUTIONS GROUP	10	\$36.57	\$365.70
					CRESCENT ELECTRIC SUPPLY			
				EA	COMPANY	10	\$38.46	\$384.60
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	10	\$42.00	\$420.00
				EA		10	\$47.33	¢472-20
				EA	DISTRIBUTORS INCORPORATED	10	\$47.33	\$473.30
				EA	VEHICLE MAINTENANCE PROGRAM	10	\$55.55	\$555.50
29	BALLAST, 150W HPS, 120/277V, ADVANCE 71A8102 OR EQUAL	Y		EA	DEALERS ELECTRICAL SUPPLY COMPANY	10	\$29.25	\$292.50
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	10	\$31.28	\$312.80
				EA	FACILITY SOLUTIONS GROUP	10	\$36.61	\$366.10
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	10	\$37.85	\$378.50
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	10	\$40.63	\$406.30
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	10	\$41.02	\$410.20
				EA	VEHICLE MAINTENANCE PROGRAM	10	\$51.09	\$510.90
30	BALLAST, 400W MTL HAL MULTI-TAP 120/277V, ADVANCE 71A6071 OR EQUAL	Y		EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	5	\$36.46	\$182.30
				EA	FACILITY SOLUTIONS GROUP	5	\$38.76	\$193.80
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	5	\$39.27	\$196.35
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	5	\$46.25	\$231.25

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	5	\$47.19	\$235.95
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	5	\$49.22	\$246.10
				EA	VEHICLE MAINTENANCE PROGRAM	5	\$63.22	\$316.10
31	BALLAST, F54T5, (4)LAMP, 120/277, GE 454-MV-PS-NI OR EQUAL	Y		EA	DEALERS ELECTRICAL SUPPLY COMPANY	100	\$25.34	\$2,534.00
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	100	\$26.56	\$2,656.00
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	100	\$31.67	\$3,167.00
				EA	FACILITY SOLUTIONS GROUP	100	\$32.00	\$3,200.00
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	100	\$32.49	\$3,249.00
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	100	\$35.02	\$3,502.00
				EA	VEHICLE MAINTENANCE PROGRAM	100	\$37.37	\$3,737.00
32	BALLAST, F32 T-8, (2)LAMP, 120/277V, ADVANCE ICN-2P32- SC OR EQUAL	Y		EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	100	\$7.59	\$759.00
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	100	\$8.13	\$813.00
				EA	FACILITY SOLUTIONS GROUP	100	\$8.50	\$850.00
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	100	\$9.27	\$927.00
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	100	\$10.01	\$1,001.00
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	100	\$12.00	\$1,200.00

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				EA	VEHICLE MAINTENANCE PROGRAM	100	\$13.15	\$1,315.00
33	BALLAST, F32 T-8, (4)LAMP, 120/277V, ADVANCE ICN-4P32- SC OR EQUAL	Y		EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	1100	\$9.68	\$10,648.00
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	1100	\$10.00	\$11,000.00
				EA	FACILITY SOLUTIONS GROUP	1100	\$10.10	\$11,110.00
				EA	CONSOLIDATED ELECTRICAL			
				EA	DISTRIBUTORS INCORPORATED CRESCENT ELECTRIC SUPPLY COMPANY	<u>1100</u> 1100	\$11.08 \$12.38	\$12,188.00 \$13,618.00
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	1100	\$13.00	\$14,300.00
				EA	VEHICLE MAINTENANCE PROGRAM	1100	\$14.35	\$15,785.00
34	BALLAST, 70W HPS, DUAL VOLTAGE, 120/277V, ADVANCE 72C7984NP OR EQUAL	Y		EA	DEALERS ELECTRICAL SUPPLY COMPANY	15	\$22.00	\$330.00
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	15	\$23.09	\$346.40
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	15	\$41.65	\$624.75
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	15	\$45.10	\$676.50
				EA	VEHICLE MAINTENANCE PROGRAM	15	\$51.09	\$766.35
				EA	FACILITY SOLUTIONS GROUP	15	\$67.76	\$1,016.40
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	15	\$145.64	\$2,184.60
35	BALLAST, 42W QUAD-PIN, DIMMING, DUAL VOLTAGE 120/277, ADVANCE IZT/2T42/M5/BS OR EQUAL	N	7IA	EA	CRESCENT ELECTRIC SUPPLY COMPANY	5	\$15.64	\$78.20

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
		Y		EA	DEALERS ELECTRICAL SUPPLY COMPANY	5	\$20.00	\$100.00
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	5	\$46.57	\$232.85
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	5	\$47.80	\$239.00
				EA	FACILITY SOLUTIONS GROUP	5	\$55.90	\$279.50
36	BALLAST, 175W M57 MH, MULTI TAP, 120/277V, ADVANCE 71A5570-001D OR EQUAL	Y		EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	20	\$25.96	\$519.20
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	20	\$29.17	\$583.40
				EA	FACILITY SOLUTIONS GROUP	20	\$30.90	\$618.00
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	20	\$36.94	\$738.80
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	20	\$37.89	\$757.80
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	20	\$38.49	\$769.80
				EA	VEHICLE MAINTENANCE PROGRAM	20	\$40.65	\$813.00
37	BALLAST, (2) LAMP, T-4, 120/277V, SYLVANIA QTP 2X26 CF/UNV DM-5 OR EQUAL	Y		EA	DEALERS ELECTRICAL SUPPLY COMPANY	5	\$12.00	\$60.00
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	5	\$12.50	\$62.50
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	5	\$14.38	\$71.90
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	5	\$14.87	\$74.35
				EA	FACILITY SOLUTIONS GROUP	5	\$16.75	\$83.75

Line#	Item Description	Award (Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				-		-	¢46.04	* 04.00
	BALLAST, LU 1000/SUPER5 KIT, SYLVANIA 120/208/240/277/480			EA	DISTRIBUTORS INCORPORATED	5	\$16.84	\$84.20
38	OR EQUAL	Y		EA	COMPANY	20	\$73.00	\$1,460.00
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	20	\$95.33	\$1,906.60
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	20	\$112.50	\$2,250.00
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	20	\$115.38	\$2,307.60
				EA	FACILITY SOLUTIONS GROUP	20	\$116.13	\$2,322.60
				EA	VEHICLE MAINTENANCE PROGRAM	20	\$137.07	\$2,741.40
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	20	\$137.55	\$2,751.00
39	BALLAST, 250W HPS, 120/208/240/277, UNIVERSAL S250MLTAC4M OR EQUAL	Y		EA	DEALERS ELECTRICAL SUPPLY COMPANY	20	\$35.00	\$700.00
				EA	CRESCENT ELECTRIC SUPPLY COMPANY	20	\$49.23	\$984.60
				EA	DISCOUNT LIGHT DEPOT DBA MCOR LIGHTING	20	\$50.56	\$1,011.20
				EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	20	\$51.64	\$1,032.80
				EA	FACILITY SOLUTIONS GROUP	20	\$53.76	\$1,075.20
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	20	\$65.01	\$1,300.20
				EA	VEHICLE MAINTENANCE PROGRAM	20	\$71.35	\$1,427.00
40	LIGHT FIXTURE, 150W HPS, MULTI-TAP, WALL PACK, DAY- BRIGHT 150SMT-LP-CS OR EQUAL	Y		EA	DEALERS ELECTRICAL SUPPLY COMPANY	10	\$100.00	\$1,000.00

Edmund Lee participated and concurs with the recommendation

		Award						
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Extended Price
				EA	FACILITY SOLUTIONS GROUP	10	\$108.72	\$1,087.20
						10	<i><i><i>w</i>100.72</i></i>	\$1,007.20
					CONSOLIDATED ELECTRICAL			
				EA	DISTRIBUTORS INCORPORATED	10	\$125.89	\$1,258.90
					VEHICLE MAINTENANCE PROGRAM			
				EA	INC	10	\$135.01	\$1,350.10
41	BATTERY, 6V, 20HR, SHURLITE SL-26-02 OR EQUAL	Y		EA	VOSS ELECTRIC CO DBA VOSS LIGHTING	900	\$4.49	\$4,041.00
					VEHICLE MAINTENANCE PROGRAM			
				EA	INC	900	\$6.87	\$6,183.00
							A7 45	\$0.405.00
				EA	DISTRIBUTORS INCORPORATED	900	\$7.15	\$6,435.00
				EA	DEALERS ELECTRICAL SUPPLY COMPANY	900	\$8.00	\$7,200.00
	BATTERY, 7.2 VOLT X							
	800mAHR, SYNERGISTIC 118-				DEALERS ELECTRICAL SUPPLY			
42	0017 OR EQUAL	Y		EA	COMPANY	10	\$20.00	\$200.00
				EA	CONSOLIDATED ELECTRICAL DISTRIBUTORS INCORPORATED	10	\$31.18	\$311.80
							ψ51.10	ψ311.00
	BATTERY, 3.6 VOLT X 800mAHR, SYNERGISTIC 26-148				DEALERS ELECTRICAL SUPPLY			
43	OR EQUAL	Y		EA	COMPANY	10	\$10.00	\$100.00
					CONSOLIDATED ELECTRICAL			
				EA	DISTRIBUTORS INCORPORATED	10	\$13.05	\$130.50